INEPNEE sS4 HIOIQEAD
M HIO|QEAMY Fd
el Hol4e |4 (CH M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
BHOI & A 1t 30,149,363 31,015,143 865,780
Jl 1,100,000
S 29,049,363
HHOIQE ALY FH 14,156,403 16,537,060 1,380,657
BHOI2&tY =d 6,499,343 7,841,700 A1,342,357
Z2EHI0I12718 H=okA X2 150,000 150,000 0
308 NHRIEMSOIE 150,000 150,000 0
01 HAHHBSEx= 150,000 150,000 0
OZ&H0I2I1e OiZal4 XI& 150,000
2012 FHIIE =4 160,000 160,000 0
308 AHAIEHMISOIE 160,000 160,000
01 XN B EELS 160,000 160,000
OY&AH0I2 RHJIE & WIIX X 160,000
ZAB0I2 AEDIY 4 500,000 500,000
308 AXIHHISOIA 500,000 500,000
01 HXHHBEAExES 500,000 500,000
OZ&HI0I2 AEDIR PO X 500,000
SSEH XS M HLX LY R=(2HEZRH) 503,000 2,003,000 21,500,000
202 04| 3,000 3,000 0
01 SLHOIHI 3,000 3,000 0
OSaeH XISH HEX2HE 2= 3,000
403 X SHMSAH=01H 500,000 2,000,000 1,500,000
02 SIS 2 2AS AL I 500,000 2,000,000 1,500,000
OS2eH XM HLEX2HE 25 500,000
OlHZred ASHSHPUE 2R(RIAEIY) 1,744,638 2,880,000 1,135,362
306 = 1,744,638 2,880,000 1,135,362
01 9= 1,744,638 2,880,000 1,135,362
Ollizgd AsHSHALH A= 1,744,638
BASHH XSATH HLXALYH 2H(2HEFZRY) 3,441,705 0 3,441,705
403 AXIHHSAH201H 3,441,705 3,441,705
01 AXIEH A= E X 3,441,705 3,441,705
OIS XISAM HEXHHE 2= 3,441,705
CXgdAasd |4 7,657,060 7,695,360 A38,300
CIXE 200 AMAFST ASNR(IEENE) 61,000 1,573,000 A1,512,000
308 AR M S0IH 61,000 1,573,000 21,512,000
11 SIS LSS S H A A 61,000 1,573,000 /1,512,000
OUIXNE EAH0 AHA=SS &5Ad 61,000
SHEAIZAH |4 XJ(SIHAEXY) 2,860,000 1,807,000 1,053,000
308 AFXIEMSOIE 2,860,000 1,807,000 1,053,000
11 SISO EB XA A 2,860,000 1,807,000 1,053,000
O=ItsldZHAH 58 XE 2,860,000
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A= M= A tol2& At
B2 HOIRQBAMY S
el CAEgEAME sS4 (CH M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
SEATHE DBt NHA248Y SE (IR RR) 100,000 100,000
308 XXM SOIA 100,000 100,000
01 AXHH B EES 100,000 100,000
OdE=AHE JIEt X gad |4 100,000
CIXIE &AH0f MEpH 2= XN(RIEFXH) 520,000 520,000
403 AXIEMSA=01H 520,000 520,000
01 MHXIHHA=ZE X 520,000 520,000
OLUIXE EAHN HHAH = K& 520,000
MAUICIOIE TAIAY Salolmet 2L (SIHAFRH) 346,600 353,400 6,800
403 AXIEMSA=201H 346,600 353,400 6,800
01 MXIHHMAZ2E X 346,600 363,400 6,800
OHMHMOIOIH =HAIAE Haloidet &4 346,600
SI2I171 AE FSR(FOHEEXR) 80,000 80,000 0
308 XXM SOIA 80,000 80,000
01 XN B SEES 80,000 80,000
O2=2J1J| Ast FH 80,000
CIXNEXIZI] HLXHLE 2=(RMEEXH) 2,000,000 2,000,000
308 AXIHISOIA 2,000,000 2,000,000
11 S| 2S0UHe B XA A 2,000,000 2,000,000
OCUXEXZII HLRNELNYH 2= 2,000,000
AABH ECIOIEDIE ABIDINLAY BAE 25 300,000 360,000 60,000
A (2 RIH)
403 NXIEHSK=201H 300,000 360,000 60,000
01 AXISHHA=2EXE 300,000 360,000 260,000
OAZEE HHI0IEDIIE A2 X
=SS AEAL 300,000
ZE AR 20101 AMedole X 400,000 400,000
403 AXIEMSA=01H 400,000 400,000
01 MHXIHHA=ZE X 400,000 400,000
OZd 22 2A=DJ1J1g A4e0lE
A& 400,000
28 2A=2I10| A2 JhE X2 201,960 121,860 80,000
202 04| 1,960 1,960 0
01 =LHObI 1,960 1,960 0
OZ& 22171 HAlz2l HEl X 1,960
308 NtXIEMSO0IE 200,000 120,000 80,000
T AN EES 200,000 120,000 80,000
OZ& =10 AIS Nzl XN 200,000
K-HHOIQ&A XISHIE X (ST XI) 37,500 37,500
308 NHXIEMISOIE 37,500 37,500
01 HXHHBSExS 37,500 37,500
OK-BHOIQE&A XISHE X 37,500
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INEPNEE sS4 HIOIQEAD
M HIO|QEAMY Fd
gel: OXNggLany |4 ESEE))
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
Q2I17] SMASKJHE R=(=HEFRH) 300,000 300,000
308 KX MSO0IE 300,000 300,000
01 AXHH B EES 300,000 300,000
O2=2I1J| =HSXALEH 5 300,000
SI27171 RO 2K (2HAEXIR) 450,000 450,000
308 AXIHHISOIA 450,000 450,000
01 XN B ExS 450,000 450,000
O2=JI|)| SHYAE FF At 450,000
JLozag =54 3,717,033 5,888,728 A2,171,695
Il 1,100,000
= 2,617,033
d2oz HOoIH & |4 3,717,033 5,888,728 A2,171,695
Jl 1,100,000
& 2,617,033
d2oE =OoIH JIgt 2= 7,500 1,361,340 /1,353,840
201 &E2E | 2,500 2,500 0
01 AtR2teld| 2,500 2,500 0
ONEI X228 & XA WF S 2,500
202 04l 5,000 5,000
01 SLHOLI 5,000 5,000
0&Rge & =X 5,000
F2olz HO0IH MHIA 2T P=(21) 1,833,333 2,708,208 A\874,875
Il 1,100,000
= 733,333
207 A=IHE 1,833,333 2,708,208 A\B74,875
Il 1,100,000
[ 733,333
02 MAHHEH] 1,833,333 2,708,208 A\874,875
Od22z 4H0IH MElA SHS = 1,833,333
Il 1,100,000
= 733,333
FUZ MY ANAFST ASXI(RIEEXR) 1,876,200 1,819,180 57,020
308 XM SOIE 1,876,200 1,819,180 57,020
11 31 2S0HetE & A A A 1,876,200 1,819,180 57,020
odeozdt AHNRSER ASKE 1,876,200
etEstsd - NE 9,592,314 6,835,937 2,7%,377
HED|E0I8 £ 3,818,420 1,317,700 2,500,720
2L A X3 (2HAFXH) 1,300,000 1,300,000 0
308 AFXIEHMSOIE 1,300,000 1,300,000 0
11 S 2S0HeHE & X A AL 1,300,000 1,300,000 0
OHHAMNLXAL X2 1,300,000
2| d7HY gdst 12,420 17,700 Ab,280
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INEPNEE sS4 HIOIQEAD
g3 heEssY - AE
Chol: XIGIXAITHAF 2B D CERE)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
01 Z&b= 4,900 7,000 22,100
O=RA ALY B4 4,900
2 XA RS X2 301,872 503,120 A201,248
308 AXIHHSOIA 301,872 503,120 A201,248
01 XN B ELS 301,872 503,120 N201,248
ZdEE NAMeE H2S NE 301,872
ADHEALY &3t =8 2,750,172 2,493,447 256,725
ATYAD OISR A(SKAI) 2K 2,100,172 1,993,447 106,725
306 EX= 2,100,172 1,993,447 106,725
01 £g= 2,100,172 1,993,447 106,725
OADEATOEMATRE 2SXE 2,100,172
X9 =AM (RRC) #5 X (IHEEXF) 360,000 200,000 150,000
307 @I2to| & 360,000 200,000 150,000
02 QB A E 350,000 200,000 150,000
(OF 218 igm] 200,000
ostgistal 150,000
ZE 20|12 Bt=g dX ST 2 APs AN 300,000 300,000 0
L(RIEENH)
308 AFXIEHMSOIE 300,000 300,000
01 MXHHBSEx= 300,000 300,000
OZENRBI0I2 Bt=E dO =SS & &t
2ot Aope 300,000
A2 FHI(HOILE A 25,613 23,418 2,19
Jl2Z3Hl 25,613 23,418 2,1%6
FNE2YE JI=23HI 25,613 23,418 2,195
201 egr=2E | 17,99 16,314 1,682
01 AtR2teld| 17,99 16,314 1,682
FAE2E AR22/| 17,99%
202 04| 4,617 4,104 513
01 SLHOHI 4,617 4,104 513
fA2E U0l 4,617
203 B =8| 3,000 3,000
4 FA=HER=A 3,000 3,000
©1521 0Olat 250,000 x 122 3,000
WRes (ol A D) 2,658,000 2,730,000 AT2,000
LIS HeHKIZE 2,658,000 2,730,000 AT72,000
_lgldtole EEHAAEX 2,658,000 2,730,000 AT72,000
705 Hl-sEclsaet 2,658,000 2,730,000 A72,000
03 Al - EXISHE DI S0I==2 =t 2,400,000 2,400,000 0
©'09d 2Hi0le HEHATEX HE 1,000,000
©'104 280l HeAAEX HE 1,400,000
04 Al - EXIFHED S HI=== 0| KHatet 258,000 330,000 AT72,000
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5 Oil &b

©'09d eldtole HEHAHAREX N 90,000

©'104d O2ldtole HEHAREX N 168,000
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